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Researches on low—cost operation system for effective utilization

of lignum biomass resources in Okayama prefecture
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130 a0z 54.0 sS4z 1.5021 069 14 z27.6 53.3 356 1.5297 o070
1355 aos 557 szs5 1.55a.2 o8 13 z5.7 55.0 Saz 1.581 2 oFo
140 2135 bsa S 1601 6 Oy 1z zi.a be.s Sz 1.EE00 OEy
145 415 59.0 05 1.649.8 067 11 z8.6 s5.4 16 1.675.4 o658
150 az= Aot =05 1777 a o&a o oo a0 =05 1727 o o&a
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== CHLISERR 2 EEIEFEAR 1D
EXz BT A ESAIEE e
e ERETE e FememE == AR PEE=3= E=3 AR EF=T=F=r=e3 23 TR PEE=3= =
CEED <mY Com2 (FA=rhad  (mPshad Rl (s had (s had Com) (Fs-ha)  (mPsha [4=3%]
10 55 21 2,50 [=] 045 793 Fa 8.4 3,30 64 O 055
15 2.0 R 1,832 1080 os2 675 213 11 .5 2,507 1293 o662
20 113 161 1.436 1671 055 396 224 151 1.832 1895 063
25 134 192 e o a2 2302 056 259 294 2 182 1,436 254 4 063
30 154 z2z2.2 295 p=d=1 =g =} o577 182 257 21 .2 1177 3226 063
35 173 251 [=1=1e] 365 5 053 135 2T 241 995 3932 063
40 191 z28.0 756 437 4 o059 104 280 270 [=1=1e] 465 4 063
45 208 308 674 5093 o059 82 292 298 Ei=1s] 5385 063
50 22.3 33.4 [={el=] 5788 o059 57 333 325 674 s121 063
55 238 36 .3 553 G656 .0 o059 55 297 353 S05 5685 7 o662
[sl=} 25 .2 388 507 F268 0 o059 45 330 379 553 F59.0 o662
55 265 41 .5 46T 8501 O o059 39 308 A0 5 507 8531 8 062
FOo 277 44 2 433 8729 o059 34 309 43 .2 467 2038 061
=3 288 467 404 2433 053 29 317 45 5 433 2750 060
[=1=} 299 49 .2 378 1,011 7 053 p=d=3 333 48 .3 404 1.0451 060
85 309 51 .8 355 1,083 8 O57F 23 302 509 378 11140 o599
20 31 .8 543 335 11507 o577 20 31 .0 53.4 355 1.181 .7 o059
o5 32.7 563 317 1.2175 056 18 308 559 335 1.2481 053
100 335 593 300 1.281 9 056 16 31 3 583 317 1.3132 o577
105 343 517 285 1,347 3 055 15 296 5038 jeisle] 11,3768 57
110 350 41 272 1,407 2 o055 14 319 53 .2 285 1.,4392 056
115 35.7 55 6 260 1.471 4 054 12 28.7 565 6 272 1.5001 055
120 363 59 .0 245 1.531 5 053 11 281 58 .0 260 1.55986 055
125 3659 713 238 1,587 3 053 10 3049 FOo4a 248 1,617 7 054
130 375 T35 228 1.544 4 o052 10 301 F2.7 238 16745 053
135 380 FE O 219 1. 701 5 051 =3 28 4 751 228 1.7299 053
140 385 783 211 1.7533 051 8 306 F7.4a 219 1.784 0 os2
145 39.0 8086 203 1,807 7 50 = 29.0 FO.7 211 1,836 7 051
150 394 820 203 1.8882 o051 [} o0 820 203 1.8882 o051
= CHLIERR = ESIEREAR 20
ESE HIEE = ESAIEE e
TS EREE e emmesme | RS E= UREEFEER | =&k R ES=T=p=r=pr3 E23 A U EE L&
CHEED Cm2 Comd (A had s had CRWY = had (s hal Com) (s had s had RV
10 55 81 2,802 506 050 495 41 Ak 3,300 547 054
15 8.0 11.7 2,048 104 0 055 755 194 108 2,802 1234 066
20 113 14.7 1,605 1587 o053 442 222 133 2,048 1809 065
25 1349 176 1,316 2197 060 289 231 167 1,605 2428 O67
30 154 203 1,112 281 8 061 204 26 2 19.4 1.316 50380 O67
35 173 23.0 261 3483 o662 151 2F T 221 1,112 3754 O&67F
40 191 25.7 846 417 4 063 116 26 9 248 261 444 3 o067
45 208 z28.2 754 485 4 063 o2 28.7 273 846 5141 O&67
50 22.3 308 G679 5573 063 T4 271 299 754 5843 O67
55 238 332 518 5233 063 52 313 324 679 554 6 066
{sle} 25.2 35.7 566 5949 2 063 52 3049 348 518 T2a46 065
55 265 381 522 7826 063 44 315 37.2 566 7941 065
FO 27 .7 405 454 831 4 o062 38 31 5 395 522 8629 065
75 288 429 451 2005 o662 33 303 420 434 2308 064
80 299 45 2 423 968 4 o622 29 293 44 .4 451 2977 064
85 309 47 6 397 1,034 7 061 p=d=3 288 467 423 1,063 5 063
20 31 .8 49 .9 374 1,099 5 060 23 286 49 .0 397 11281 o662
25 32.7 521 354 11628 o680 20 288 51.3 374 1,191 5 o652
100 335 543 336 1.2226 o059 18 31 .0 535 354 1.253.7 061
105 34.3 567 319 1.2869 o059 17 276 558 336 1.3145 061
110 35.0 588 304 1.3447 053 15 29 2 58.0 319 1.3739 060
115 35.7 511 290 1,403 6 o053 14 285 s0.2 304 1.,4321 o599
120 36.3 53 .2 278 1.458 4 o577 13 305 52 .4 290 1,488 9 o053
125 3659 565 5 266 1.5176 056 12 268 54 65 278 1.544 4 053
130 375 57 6 255 1.5693 056 11 29 .4 567 266 1.5986 o577
135 38.0 59 .8 245 1.6241 055 10 275 58 .9 255 1,651 5 056
1an sS85 712 236 16725 ass a ety F1.0 2as 170z 56
145 39.0 741 227 1.7289 054 9 246 73z 236 1.7535 055
150 39 .49 753 227 1.8027 o054 [} o0 75 .3 227 1.8027 o054
= CHhfEERR = TEEERSER 5D
E T BT A ESAIEE e
e EEE e FemeaE == AR PEE=3= = B AR EF=T=p=r=3 == E=T PEE=3= =
CEED Cmy Coml (HA=rha)  (mPsha) (R (FA=rha)  (mPsha) (sml (HA=rha) (s ha) (R
10 55 7.4 3,05 47 2 053 233 (s l=] T 3,30 478 055
15 2.0 11 .0 2,241 101 1 053 826 181 101 5,067 1192 069
20 113 138 A:FSE 1545 061 454 202 129 2,241 1747 069
25 134 164 1,440 2099 063 317 236 155 1,757 2334 oOF0
30 154 189 1,217 271 0 064 223 248 181 1.440 zZ295 8 o770
35 173 21 .4 1,052 3343 065 165 26 5 Z206 1,217 3608 o700
40 191 23.9 o925 401 & 066 127 2610 231 1,052 4277 o700
45 208 263 825 B l=1=R= 065 100 272 255 225 4953 oOF0
50 22.3 28.7 744 5354 065 81 26.3 279 825 561 8 o770
55 238 51 .0 [=ard] G503 5 066 a7 26 9 302 Ta4 G309 069
[sl=} 25 .2 333 S620 G707 066 57 279 325 G676 598 6 069
55 265 355 572 7355 066 48 305 34.7 S520 FE5 9 063
FOo 277 378 530 804 3 065 41 278 370 572 831 9 063
=3 288 400 494 868 2 065 38 279 392 530 896 2 O&67
[=1=} 299 421 463 2308 065 32 31 .0 41 .4 494 261 9 O67
85 309 44 .3 435 294 6 064 28 307 435 463 1,025 4 066
20 31 .8 46 5 410 1,058 0 064 25 28.3 45 7 435 1,086 .3 065
o5 32.7 48 6 387 1.1202 063 22 280 478 410 11482 065
100 335 507 367 11773 o062 20 298 49 .9 387 1.2071 064
105 343 528 349 11,2375 o662 18 292 520 367 1,266 7 064
110 350 549 333 1.2951 061 17 279 541 349 1.3230 063
115 35.7 569 318 1.3491 061 15 308 561 333 11,3799 o662
120 363 588 304 1.3883 060 14 347 s58.2 318 1,433 0 o062
125 3659 51 .0 291 1.458 0 059 13 285 s0.2 304 1.486 5 061
130 375 53 .0 279 1.511 3 o059 12 291 522 291 1.54049 060
135 38.0 551 268 1.565 4 o053 11 247 54 .3 279 1.5902 059
140 385 a7 1 258 16150 57 10 252 56 .3 268 1.6402 059
145 390 59 .0 249 1.6605 oO57F i=2 300 58 .2 258 1.6905 053
150 39.4 Foz2 249 1.736 2 O57F [} o0 Fo.z2 249 1.736.2 O57F
= CHLIERR = EOIEPEAR 4)
EXE BT A ESAIEL =
FH T ErEf E  wmmemE ES TAFE IREE FEER == FE R = F uRE Eh
CEED ml foml (FHs hal (P hal C Ry (== hal (e had (em) (F=-hal (P had € Rar)
10 55 &7 3,300 420 055 (=} (s e) &7 3,300 az1 055
15 2.0 101 2,452 25 4 061 845 175 2.4 3,300 1129 o071
20 11.3 128 1,923 147 2 064 530 21 1 120 2,452 1683 73
25 1349 153 1,576 2028 066 347 220 145 1,923 2248 oO7F3
30 154 5 1.332 261 8 o067 244 23 2 169 1.576 284 9 73
35 173 200 1,152 3223 063 181 252 192 1,332 3475 O7F3
40 191 223 1,013 3858 069 139 261 215 1,152 411 9 73
45 208 246 203 452 0 069 110 256 238 1,013 4775 oO7F3
50 223 26.7 814 5111 069 89 299 Z26 .0 903 541 1 73
55 238 29.0 T40 5822 069 T4 249 z28.2 814 G072 o072
[sl=} 252 311 675 G546 3 069 52 26 6 303 a0 G729 o072
55 26.5 332 526 FO9 4 069 53 283 324 578 FIALT o071
FO 277 353 580 F739 063 45 273 345 S26 801 3 o7
75 288 374 541 8375 063 39 257 3565 580 8631 o700
==} 299 39.49 506 899 86 065 35 26 .9 385 541 226 4 70
85 309 41 .3 476 9583 o067 31 293 406 506 987 6 069
20 31 .8 43 .4 445 1.021 8 o067 27 24 4 4z 6 ATFE 1,046 2 069
o5 32.7 45 3 424 1,077 6 065 24 283 44 5 445 11059 063
100 335 47.3 402 11364 065 22 26 2 46 5 424 11626 O67
105 343 49 .3 382 1.1923 065 20 278 485 402 1.2201 O67F
110 350 511 364 1.244 2 064 18 300 504 382 1.2743 066
115 35.7 530 345 1.2969 064 17 322 524 364 1.3290 065
120 363 551 332 1,356 .0 063 15 294 2 54 .3 348 1.3802 065
125 369 569 318 1,405 7 o622 14 260 56.2 332 1,431 7 064
130 375 588 B06 1,456 8 o662 13 269 581 318 1,483 7 063
135 380 506 294 1.504 0 061 12 275 F 599 306 1.531 6 o662
140 385 525 283 1,553 2 061 11 26 6 51 .8 294 1.5798 o652
145 3.0 54 4 272 1.601 9 o060 10 26 .4 563 6 283 1.628.2 061
150 3949 55 5 272 16722 060 [} [oNe] 5655 272 16722 O60
= CHLMEERR = TEERSER 5D
EXE & T A ESEE ==
T ErEAE s ES TR UREE FEER FE R *i 75 URER Ehste
CHEED <ml Coml (= Fed eV s had CRw) = hal P had Com) (A= hal s had R
10 55 5.2 3,300 36 4 055 (=} o 5.2 3,300 360 055
15 S0 =R=d 2,741 0.0 065 559 a4 8.7 35,300 26 4 071
20 11.3 11 .8 2,149 1428 063 592 179 11.0 2,741 1606 o768
25 134 141 1. 762 1944 70 388 203 133 2,149 2146 oOF7F
30 154 162 1,489 249 .4 o071 273 225 155 1,762 2720 OF7F
35 173 18.4 1.287 3097 o072 202 220 AFF 1.489 331 .7 oOF7F
Ei=] 191 205 1,132 369 6 oO7F3 155 237 1935 1,287 3933 oOF7F
45 208 225 1,009 4306 73 123 253 21.8 1,132 455 9 oOF7F
50 223 245 210 487 8 073 100 287 238 1,009 5165 076
55 238 265 827 5538 oO7F3 82 258 258 910 5797 o776
{sl=} 252 285 758 5170 oO7F3 59 25 4 278 827 542 .4 o776
55 26 .5 304 599 G676 5 oOF3 59 278 29.7 758 FO4a4 3 o775
FO 277 323 549 734 .4 o072 51 305 315 599 FTE649 075
75 288 34 .2 S Ea=l=g=1 o072 44 272 335 G649 8240 o744
[=1=} 299 36.0 566 8550 o071 39 29 .4 354 [={et] 8845 o744
85 309 38.0 532 2177 o7 34 251 373 566 2428 73
j=l=} 31 .8 399 501 2759 o700 30 229 391 532 9988 o072
25 32.7 41 5 474 1,028 0 70 27 277 409 501 1.,0558 o072
100 335 43 .4 449 1,083 1 069 25 268 427 474 110299 o7
105 34.3 45 2 427 11377 069 22 271 44 5 449 1.1648 oO7F0
110 35.0 470 407 1.1803 063 20 26 3 46 3 427 1.2165 oOF0
115 35.7 488 388 1.,2459 o687 18 230 481 407 1.2688 069
120 36.3 504 372 1.289.7 o067 17 279 49 .5 388 1.317.7 063
125 3659 523 356 1.344 8 066 16 220 51 6 372 1.3669 063
130 375 54 .0 342 1.3809 066 14 25 6 533 356 1. 4165 O67
135 38.0 55.7 328 1,438 4 065 13 238 55 .0 342 1.,4622 066
140 385 574 316 1.481 9 064 12 26.3 587 328 1.508 2 065
145 390 590 305 1.5280 064 11 26 5 58 .4 316 1.5545 065
150 39.4 S50 305 1.5965 064 (=} o0 S50 305 1.5965 064
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= CHh T ER 3 FEEPERR 12

= FlEE EEE =
THER _EfEEtE FaoommesmEiE =R 4 FE YR B FE# =gt 4 & 4 B O TR =gl
(&= Cm> Comd  fosshad  (mPohad =) (Hrhad  (mPohad Comd) (s had
10 5.1 o1 2,507 S22 0449 To3 7O 8.4 3,300
15 54 12 TEse 1000 Clas 75 1es 11m zso7
20 105 161 1,436 154 .8 051 396 208 151 1.832
25 125 192 AT EE 213 .2 053 259 z22.4 18.2 1.436
30 14 .4 222 995 2750 054 182 238 21 .2 1477
35 162 251 [=1=1e] 33886 055 135 25.7 241 295
40 178 280 756 405 .2 056 104 259 270 [=1=1s]
45 19.49 308 &E67 4 471.7 056 [=3= 271 298 756
50 208 334 (=== 5361 056 57 308 325 G674
55 z2z22 363 553 GSOT & 056 55 275 353 [={ei=]
{sl=} =3 388 507 6725 D56 46 305 379 553
55 24 .7 41 5 AEGTF 7419 055 39 285 A0 6 507
FO 258 44 2 433 808 & 055 34 286 43 .2 46T
75 269 El=rs 404 8737 055 29 29 .4 455 433
o z7= 4oz 7o 72 S zo Sos a5s pe=
85 283 51 8 355 1,003 .9 o054 23 279 509 378 1
i=l=} 29.7 543 335 1,065 9 053 20 28.7 534 355 1
o5 o5 se= 317 Th=rs cs= s =53 sEo s=s 1
100 313 593 300 11874 o552 16 29.0 583 317 1
105 32.0 61 .7 285 1.248.0 o052 15 27 .4 508 3OO 1
1o 327 541 27z 1Eoss csa 1a a5 55z za= 1
115 333 [sl=N=} 260 1.362.9 051 12 266 55 6 272 1
120 339 [=i=R=} 245 1.418.7 50 11 26 .0 58.0 260 1
125 345 713 238 1. 4703 50 10 z28.2 FOo4 248 1
130 350 T36 228 11,5232 a9 10 279 Fa2TE 238 1
135 355 Ei-pel 219 1.5761 a8 i=3 26.3 751 228 1
140 359 T8 3 211 1.6241 (=38 =1 8 28.4 FT4a 219 1
145 36 .4 BO6 203 1,674 5 047 8 Z26.9 o7 211 1
150 3565 820 203 1. 7491 043 (=] 0.0 820 203
= = CHE TR 5 ESEEEPEEER 20
Exoe FllE= s
ThEE ErETEl s wamemE | oRER FATE  UREEE#k | Rk TR T E2
CEED <md cm> (G Pl ety LS hE) Ry (s had Crmtsha) om> C(s~had
10 &1 81 2,802 465 .9 a7 49 38 PE 3,300
15 8.4 ¥ E 2,048 98 6 o522 755 180 108 2,802
=0 1o 147 1sos 1as7 css saz zos 15s =oas
25 125 176 1,316 2031 057 289 21 .4 167 1,605
30 14.4 203 1112 260.9 o058 204 242 19.49 1.316
=5 15z 230 EER 3234 csa b= 25z zzn 1z
Eie] 178 257 846 3859 059 116 249 248 261
45 19.4 28 .2 754 449 .9 D& {=F= 26 .65 73 546
50 z208 308 679 515.0 o059 Fa 250 299 754
55 z2z22 332 518 5770 D60 52 289 324 [=ara=]
{sl=} 35 357 566 543 .2 o059 52 z28.2 348 G618
55 24 7 381 522 TOE 4 059 44 292 372 566
FO 258 405 454 TE9 .3 o059 38 291 3986 522
75 269 a4z9 451 834 .6 058 33 281 420 434
80 279 45 2 423 897 .9 o058 29 271 44 .4 451
85 283 47 86 397 2581 o538 26 26.7 467 423
i=l=} 29.7 499 374 10192 057 23 265 490 397
o5 305 521 354 1,077 .0 057 20 26.7 51.3 374
100 5= Sas S5o 1assT cse 1o 55 S35 sS4
105 32.0 567 319 119249 055 17 256 558 336
110 32.7 588 304 1.,247.0 055 15 271 580 319
115 =33 514 250 13000 csa 1a =4 so= o
120 339 63 2 278 1.351 .0 054 13 28.3 524 290
125 345 65 5 266 1,407 3 053 12 249 545 278
1m0 A5 o av & 55 1asaa a5 11 o7 > a7 Zaa
135 355 69 8 245 1.505 8 o522 10 255 539 255
140 359 718 236 1.547 8 51 i=2 28.3 F1 .0 245
145 36 .4 741 227 1,603 .3 051 i=3 228 F32 236
150 368 753 227 1671 .4 051 [} o0 753 227
= CHbTTER 3 EEIEPERR 3D
=R FlEE= EEEs
s e T B2 TR IR e EER B TR Espe=p B
(&= > (cm) (= hal  (mPlhad [ (o) Cmtlhed (cml  (=erha)
10 &1 74 3067 44 O 50 233 (eX=] 2 3,300 1=}
15 8.4 11 .0 2,241 23.4 055 826 167 101 3,067 1
=0 1os 155 TasT 1azy Sose P 15T 1z =za1 4
=5 1zo 15 1laao 1545 oo 17 21 = 155 1o =
30 14.4 189 1.217 251 .8 O.a1 223 23.0 181 1.440 1=}
35 16.2 1.4 1,052 3103 062 165 246 206 1,217 9
a0 17s =30 szs ave s Se= 1z Ee =31 1 o5z P
45 19.4 26 3 825 433 .5 O&3 100 252 255 225 7
50 z208 287 744 496 .9 O&a3 81 245 279 825 3
== 22z 314 [ s5m1 cea =7 za= zoz Faa =
{sl=} 35 333 s620 B20 .6 062 57 259 325 G676 5
55 24 7 355 572 G303 D62 48 28.2 34.7 G20 5
FO 258 378 530 7443 062 41 255 370 572 8
75 269 400 494 B804 5 062 36 259 392 530 4
80 279 421 463 861 .4 a1 32 28.7 41 .4 494 1
85 2838 44 3 435 92049 a1 28 28.4 435 463 8
20 29.7 46 5 410 93803 &0 25 z26.2 457 435 1 5
t=1=3 305 48 6 387 1.,037.2 D&a0 22 259 47 S 410 1 1
100 31 .3 507 367 1.,0909 o059 20 276 499 387 1 5
105 3z2.0 528 349 1.,145.7 058 18 271 520 367 1 F
110 32.7 549 333 11999 053 17 259 541 349 1 8
115 333 569 318 1,249 .2 057 15 28.5 561 333 1 7
120 S5= S5 Soa 1 zecz s 14 Sz= So2 S1s 1 e
125 345 61 .0 291 1.351 5 o056 13 26.4 502 30g 1 =3
130 50 szo =75 1Eoes css 1z =60 ez = =51 1 =
p== sE 5 551 zes 1asos css 11 zzo ez 7o 1 a
140 359 671 258 1,496 .2 0549 10 23.3 553 268 1 5
145 36 .4 69 0 249 1.,536.7 0549 i=2 277 55 .2 258 1 =3
150 mem Fo= zan 1 aon@ asa o o) Foz san A
= CHBATER 3 EEEEREER 4)
X Hi==S Ewlros
TS SRR T semm e St HrFE  uREE ks | = totAE emmemmiE oSk
(&= Crmd (cm)  (==had (P ha) Ry (FH=rha)  (mPrhad (cm) (== had
10 &1 57 3,300 391 o522 (=} 0.0 5.7 3,30
15 8.4 101 2,452 881 0538 8545 16.2 2.4 35,300
20 105 128 1.923 136 .0 051 530 195 120 2,452
25 125 153 1,576 1883 O&a3 347 204 145 1,923
S0 154 1ar 1 Db zazi Cea Zaa 215 Teo 1sis
35 16.2 200 1,152 299.2 D65 181 23.4 192 1,332
40 178 223 1,013 3576 [=N=1=4 139 24 2 21.5 1,152
a5 154 zas o G151 oo 11o = zs5 1S
50 z208 267 814 4743 [=N=1=7 89 278 260 203
55 z2z2.2 290 T40 5394 Da6 74 231 z28.2 8514
o = 514 s7a e ces sz zae so= 7ao
55 24 7 332 [sp=is] G656 .2 D65 53 26.2 324 G678
FO 258 353 580 TF16.2 [=N=1=4 45 253 345 626
75 e s a7 a San Fra cas A5 > m e sA0
80 279 394 506 8325 D&4 35 249 385 541
85 283 41 .3 476 886 .8 (=N 8 =1 271 A0 6 506
20 29.7 43 .4 445 2946 .8 D63 27 226 4265 476
o5 305 453 424 297 .7 O&3 24 26 .2 4465 445 1
100 31 .3 473 402 1,053 .0 062 22 24 .2 45 65 az4 1
105 32.0 493 382 11038 a1 20 25.7 485 402 1
110 32.7 511 364 11528 o061 18 278 504 382 1
115 333 530 348 1. 2008 &0 17 298 524 364 1
120 339 551 332 1.,257.0 D&a0 15 z22.4 543 345 1
1=z5 Sas s6 s 1o 1 Eos O Sss 1a e So= == 1
130 350 588 B06 1.348 8 o538 13 249 581 318 1
135 355 [si=R =} 294 1.,3935 053 12 256 599 BO5 1
150 Pt sz 5 zoa 1400 cs7 11 zas 10 o4 1
145 36 .4 64 4 272 1.482.4 0568 10 24 .4 5365 283 1
150 365 65 5 272 1.5491 o057 (e} 0.0 555 272
P e (M T ER 3 FEEIE PSR 52
EEE e EEE=
TR ErEfE s wamemE | R ER TR UREE L@k | oRak TR FamemEE | Rk
&5 Crmd Com)  (oErha) | Crohed ] (&S] CmPrhay (om)  (Fsrha) R
10 &1 52 3,300 34 .0 o522 (=} o0 5.2 3,300 =3 o
15 8.4 oz 2,741 83 .4 062 559 59 8.7 35,300 3 (o]
20 105 118 2,149 131 .6 =N 8 592 165 11.0 2,741 1 (=]
25 125 141 A FBE 1800 [=N=1=} 388 188 133 2,149 8 (=]
30 14.4 162 1.489 231 .68 O&a7 273 209 155 1.762 5 (=]
S5 Tez 154 1z s Ces 2oz 2o 1 1 laco 5 o
40 178 205 1,132 341 .8 [=N=3=} 155 21.9 1935 1,287 8 (=]
45 19.49 225 1,009 398 .6 D&a9 123 23 .4 21.8 1,132 1 (o]
o zoo zas =10 4516 cos 1oo oo zs5 1 ooe = o
55 z2z22 26 5 827 5128 [=N=i=} [=3= 239 258 210 =2 (=]
{sl=} 35 285 758 5711 [=N=3=} 59 235 278 827 1=} o
s e S04 oo szss ces so =55 =57 sea s P
FO 258 323 549 678 .9 D&a9 51 28 .2 31 .6 [=1=}=) 1 o
75 269 342 S04 7389 [=N=1=} 44 252 335 549 1 (=]
Ao >7'm a6 o saa Tz o can y o7 = a5 a aca > &
85 283 380 532 849 .0 D&a7 54 z23.2 373 566 2 o
i=l=} 29.7 399 501 204 9 O&7 30 213 391 532 1 (o]
a5 305 41 & 474 251 .8 [=N=1=7 27 25.7 409 51 5 o
100 313 43 .4 449 1,004 7F [=N=1=} 25 249 427 474 1 1=} (=]
105 32.0 45 2 427 1,053 6 (=13 22 251 445 445 1 =3 (=]
110 32.7 47 0O 407 1,104 .0 D65 20 24 .4 453 a4z27 1 4 (=]
115 333 A48 8 388 11535 (=N 8 18 21.3 451 407 1 8 (o]
120 339 504 372 1.,195.7 O&3 17 259 495 388 1 1=} (o]
125 345 523 356 1.,248.4 O&a3 16 205 51 .6 372 1 8 (=]
150 SO sao Gaz EReeta fep 1a 25r S Soo 1 & o
135 355 557 328 1,334 1 o061 13 221 550 342 1 1 (=]
140 359 574 316 1,371 .6 a1 12 243 567 328 1 9 (o]
145 So.a soo Sos 1aieE Seo 11 Zas Se.a s1s 1 = o
150 368 G601 305 14803 051 [} o0 S0 305 1 3 (o]
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B CHBASERR 4 ESIEPEER 1D
=E oA BIFFEAAS E Bt AS
T isn ErEfEES FoapsmaE s B T FE YRS Fb# =3 = FE R R A =3 T FE YREs Fh#i
CEED Crnd Com2 (6= P Y B Pl Y] (Rw) A= had T ha) Cord (Hsrhad  CmPshad LR
10 5.7 ER] 2507 45 .4 .41 Fo3 5.5 8.4 3.300 54 .9 o049
15 7.8 127 1.832 826 045 575 183 118 2,507 1109 o055
20 2.8 161 1.436 1433 048 396 19.2 151 1.83=2 16286 056
25 ko g 192 177 1875 o050 =259 Z20.8 182 1.436 218.3 056
30 134 2z .2 295 254 .7 051 182 =221 =y k= 177 2758 056
35 151 251 8650 31386 052 135 238 24:1 295 337 4 o056
a0 1685 zZ28.0 T56 3753 052 1049 240 27 .0 8650 3283 056
a5 181 308 574 437 .0 052 82 251 298 Ei=1=] 4521 056
50 195 335 .4 508 486 5 053 57 28 .5 325 574 525 .2 056
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